
1SSC CGL 2025 | SET - 20KD PUBLICATION Contact us:- 9555108888, 9555208888

1. (c) Alphabets - SMOTHER 

Alphabetical order- EHMORST

2. (b) A  B C

E

I

M

Q

J

R

Z

H

N

Y

J

U

+4 +8 +11

+11

+11

+11

+8

+8

+8

+4

+4

+4

3. (c) 54 – 9 = 9 × 6  = 54
126 – 21 = 21 × 6 =126
155 – 15 = 15 × 6 = 90 155
(odd)
216 – 36 = 36 × 6 = 216

4. (d)Porbpor/Porbpor/Porbpor

5. (c)
T  O P

Z I W

+6 –6 +7, 
P  A M

V U T

+6 –6 +7

Similarly,

S  Q B

Y K

+6 –6 +7

6. (b)

A

CB

D E

Cousin

7. (c)
8. (a) 27 + 36 ÷ 9 × 15 – 24 = 57

After interchanging the
number in given equation.
= 24 + 36 ÷ 9 × 15 – 27 = 57
= 24 + 4 × 15 – 27 = 57
= 24 + 60 – 27 = 57
= 57 = 57 (L.H.S  = R.H.S)

9. (b) (28, 7, 140)
= (28 + 7) × (28 ÷ 7)

 35 × 4 = 140 (Last term)
(15, 5, 60)

 (15 + 5) × (15 ÷ 5)
 20 × 3 = 60 (Last term)
Similarly,

(24, 6, 120)
= (24 + 6) × (24 ÷ 6)

 30 × 4 = 120 (Last term)
10. (a)
11. (a)
12. (c) 207 : 30
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 207 = 9 × (30 – 7)
 207 = 9 × 23
 207 = 207 (L.H.S = R.H.S)

108 : 19
 108 = 9 × (19 – 7)
 108 = 9 × 12
 108 = 108 (L.H.S = R.H.S)

Similarly,
63 : x

 63 = 9 × (x – 7)
 63 = 9 × (14 – 7)
 63 = 63 (L.H.S = R.H.S)

13. (d)

Thread

Needle Match- box

14. (a) T  R  A  I  N

14 9 1 18 20

, P  O  L  I  T

20 9 12 15 16
Similarly,

S  H  N  K  E

5 11 14 8 19 
15. (c)
16. (c) 1016 : 254 : 508

 254 × 4 = 1016 (First term)
 254 × 2 = 508 (Last term)

2200 : 550 : 1100
 550 ×  4 = 2200 (First term)
 550 × 2 = 1100 (Last term)
Similarly,

5400 : 1350 : 2700
 1350 × 4 = 5400 (First term)
 1350 × 2 = 2700 (Last term)

17. (a) 756 ÷ 252 + 89 × 180 – 63 =
384
After interchanging the two
sign

 756 ÷ 252 × 89 + 180 – 63 =
384

 3 × 89 + 180 – 63 = 384
 267 + 180 – 63 = 384
 447 – 63 = 384
 384 = 384 (L.H.S = R.H.S)

18. (d)
19. (d)

20. (a) A  N  K  L  E
×2

B  B  V  X  J
2  2  22 24 10

×2 ×2 ×2 ×2

1 14 11 12 5

Similarly,

×2

T  H  I  G  H

N  P  R  N  P
14 16 18 14 16

×2 ×2 ×2 ×2

20 8 9  7   8

21. (a) 89A 94C 35D 8B8
ATQ,
= 89 + 94 – 35 ÷ 8 × 8

 89 + 94 – 4.37 × 8
 89 + 94 – 35
 148

22. (a)
23. (a)

24. (b) 3,  5, 15,  41, , 17391

+2 +10 +26 +50 +82

+8 +16 +24 +32

+8 +8 +8

25. (c) G    C    X    D

–4 (opposite)

+6

K    G    T    Z

–4 (opposite)

+6

T    P    L     R

–4 (Not
opposite)

+6

(odd)

N    J    Q    W

–4 (opposite)

+6

 termLanka. B-GENERAL AWARENESS
26. (c) Durable goods are items

that are designed to last for
a long time and can be used
repeatedly without being
consumed immediately.
For example, products like
televisions, washing
machines, and furniture./

fVdkÅ lkeku os oLrq,¡ gSa ftUgsa yacs
le; rd pyus ds fy, fMtkbu
fd;k tkrk gS vkSj mUgsa rqjar miHkksx
fd, fcuk ckj&ckj bLrseky fd;k
tk ldrk gSA mnkgj.k ds fy,]
Vsyhfotu] okWf'kax e'khu vkSj iQuhZpj
tSls mRiknA
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27. (b) Joseph François Dupleix
was the Governor-General of
the French East India
Company in India during the
18th century. Dupleix was
known for his involvement
in Anglo-French conflicts in
India, particularly the
Carnatic Wars against the
British in which the British

won./tkslsiQ izaQdksbl MqIysDl 18oha
'krkCnh ds nkSjku Hkkjr esa izaQsp bZLV
bafM;k daiuh ds xouZj&tujy FksA
MqIysDl dks Hkkjr esa ,aXyks&izaQsp la?k"kks±]
fo'ks"k :i ls vaxzstksa ds f•ykiQ dukZVd
;q¼ksa esa mudh Hkkxhnkjh ds fy, tkuk
tkrk Fkk ftlesa vaxzstksa dh thr gqbZ
FkhA

28. (d) Article 16 of the Indian
Constitution provides for
equality of opportunity for
all citizens in matters
relating to employment or
appointment to any office

under the State./Hkkjrh; lafoèkku
dk vuqPNsn 16 jkT; ds v/hu fdlh
Hkh dk;kZy; esa jkstxkj ;k fu;qfDr ls
lacaf/r ekeyksa esa lHkh ukxfjdksa ds
fy, volj dh lekurk çnku djrk
gS

29. (a) The A-horizon is the top
layer of soil and is also
known as topsoil. It is the
most fertile part of the soil
and contains a high amount
of humus, which is the
organic component formed
by the decomposition of
leaves and other plant

material./A&f{kfrt feêðh dh lcls
Åijh ijr gS vkSj bls VkWilkWby ds
:i esa Hkh tkuk tkrk gSA ;g feêðh dk
lcls mitkÅ fgLlk gS vkSj blesa mPp
ek=kk esa áwel gksrk gS] tks ifÙk;ksa vkSj
vU; ikS/ksa dh lkexzh ds vi?kVu ls
cuus okyk dkcZfud ?kVd gSA

30. (d) The Minamata Convention
(Japan) on Mercury is an
international treaty
designed to protect human
health and the environment
from anthropogenic
emissions and releases of

mercury and mercury

compounds./ikjs ij feukekrk
dUosa'ku (tkiku) ,d varjkZ"Vªh;
laf/ gS ftls ekuo LokLF; vkSj
i;kZoj.k dks ikjs vkSj ikjk ;kSfxdksa
ds ekuotfur mRltZu vkSj mRltZu
ls cpkus ds fy, yk;k x;k gSA

31. (c) The first annual session of
the Indian National
Congress (INC) was held
in Bombay (now Mumbai)
in December 1885.
Womesh Chunder
Banerjee (W.C. Banerjee)
was the President of this

first session./Hkkjrh; jk"Vªh;
dkaxzsl (INC) dk igyk okf"kZd
l=k fnlacj 1885 esa ckWEcs (vc
eqacbZ) esa vk;ksftr fd;k x;k FkkA
okses'k paæ cuthZ (W-C- cuthZ)
bl igys l=k ds vè;{k FksA

32. (c) James Watt is credited
with defining the unit of
"horsepower". According
to his definition, 1
horsepower = 33,000 foot-
pounds of work per
minute. This means a
horse can lift 33,000
pounds by 1 foot in 1

minute./t s El o kV dk s
"gkWlZikoj" dh bdkbZ dks ifjHkkf"kr
djus dk Js; fn;k tkrk gSA mudh
ifjHkk"kk ds vuqlkj] 1 gkWlZikoj ¾
çfr feuV 33]000 iQqV&ikmaM dk
dkeA bldk eryc gS fd ,d
?kksM+k 1 feuV esa 33]000 ikmaM dk
otu 1 iQqV rd mBk ldrk gSA

33. (a) Vitamin D plays a crucial
role in bone and muscle
health. Its main function
is to help the body absorb
calcium and phosphorus,
which are essential for: (I)
Building and maintaining
strong bones. (II)
Preventing bone disorders
like rickets in children
and osteoporosis in

adults./foVkfeu Mh gfîó;ksa vkSj
ekalisf'k;ksa ds LokLF; esa egRoiw.kZ
Hkwfedk fuHkkrk gSA bldk eq[; dk;Z
'kjhj dks dSfY'k;e vkSj iQkLiQksjl

dks vo'kksf"kr djus esa enn djuk gS]
tks fuEu ds fy, vko';d gSa% (I)
etcwr gfîó;ks a dk fuekZ.k vkSj
j•j•koA (II) cPpksa esa fjdsV~l vkSj
o;Ldksa esa vkWfLV;ksiksjksfll tSls gîóh
ds fodkjksa dks jksdukA

34. (d) “Sagarmatha” is the Nepali
name for Mount Everest,
the highest mountain in
the world, standing at
8,848.86 metres (29,031.7

ft)./"lkxjekFkk" ekmaV ,ojsLV dk
usikyh uke gS] tks nqfu;k dk lcls
Å¡pk ioZr gS] ftldh Å¡pkbZ 8]848-
86 ehVj (29]031-7 iQhV) gSA

35. (a) The Intergovernmental
Panel on Climate Change
(IPCC) was established in
1988 by the World
M e t e o r o l o g i c a l
Organization (WMO) and
the United Nations
Environment Programme
(UNEP). Its main purpose is
to assess scientific
information related to
climate change, its
impacts, and potential

future risks./tyok;q ifjorZu ij
varj&ljdkjh iSuy (IPCC) dh
LFkkiuk 1988 esa fo'o ekSle foKku
laxBu (WMO) vkSj la;qDr jk"Vª
i;kZoj.k dk;ZØe (UNEP) }kjk dh
xbZ FkhA bldk eq[; mís'; tyok;q
ifjorZu] blds çHkkoksa vkSj laHkkfor
Hkfo"; ds tksf•eksa ls lacaf/r oSKkfud
tkudkjh dk vkdyu djuk gSA

36. (d) India Gate, also known as
the All-India War Memorial,
was designed by Sir Edwin
Lutyens, a prominent
British architect. Lutyens
also played a key role in
designing the layout of New

Delhi./bafM;k xsV] ftls vf•y
Hkkjrh; ;q¼ Lekjd ds :i esa Hkh
tkuk tkrk gS] dks ,d çeq• fczfV'k
okLrqdkj lj ,Mfou yqfV;al us
fMtkbu fd;k FkkA yqfV;al us ubZ
fnYyh ds ysvkmV dks fMtkbu djus
esa Hkh egRoiw.kZ Hkwfedk fuHkkbZA
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37. (a) While it significantly
boosted crop outputs in
targeted areas, the
emphasis was not on rain-
dependent agricultural
zones. International
organizations, such as the
Rockefeller Foundation and
the Ford Foundation,
provided funding and
technical support for the
Green Revolution,
particularly for research
and development of HYVs./

gkykafd blus yf{kr {ks=kksa esa iQly
mRiknu dks dkiQh gn rd c<+k;k]
ysfdu bldk tksj ckfj'k ij fuHkZj
Ñf"k {ks=kksa ij ugha FkkA jkWdiQsyj
iQkmaMs'ku vkSj iQksMZ iQkmaMs'ku tSls
varjkZ"Vªh; laxBuksa us gfjr Økafr ds
fy,] fo'ks"k :i ls HYV ds vuqlaèkku
vkSj fodkl ds fy, foÙk iks"k.k vkSj
rduhdh lgk;rk çnku dhA

38. (b) Anginda Peak is the highest
peak in the Silent Valley
National Park, located in
Palakkad district, Kerala. It
is important for biodiversity
and is home to endemic
species like the Lion-tailed
macaque and Nilgiri

langur./vafxaMk ihd dsjy ds
iyDdM+ ftys esa fLFkr lkbysaV oSyh
us'kuy ikdZ dh lcls Åaph pksVh gSA
;g tSo fofo/rk ds fy, egRoiw.kZ gS
vkSj 'ksj&iwaN okys eSdkd vkSj uhyfxfj
yaxwj tSlh LFkkfud çtkfr;ksa dk ?kj gSA

39. (a) Mahendravarman I (Pallava
dynasty) assumed the title
“Vichitrachitta”, which
means “the curious-
minded” or “the one with a
wonderful mind.” He was
also a scholar, playwright,
and an artist. His reign saw
significant developments in
the rock-cut temples of

Mahabalipuram. /egsaæoeZu
çFke (iYyo oa'k) us "fofp=kfpÙk"
dh mikf/ /kj.k dh] ftldk vFkZ gS
"ftKklq&fnekx okyk" ;k "vn~Hkqr
fnekx okykA" og ,d fo}ku]
ukVddkj vkSj dykdkj Hkh FksA muds
'kkludky es a egkcyhiqje ds

pêðku&dkVs x, eafnjksa esa egRoiw.kZ
fodkl gqvkA

40. (d) Vishnu Digambar Paluskar,
a renowned Hindustani
classical musician, estab-
lished the first Gandharva
Mahavidyalaya in Lahore in
1901 to promote and
preserve Indian classical
music through formal

education./çfl¼ fganqLrkuh 'kkL=kh;
laxhrdkj fo".kq fnxacj iyqLdj us
vkSipkfjd f'k{kk ds ekè;e ls Hkkjrh;
'kkL=kh; laxhr dks c<+kok nsus vkSj lajf{kr
djus ds fy, 1901 esa ykgkSj esa igyk
xa/oZ egkfo|ky; LFkkfir fd;kA

41. (c) When sales rise
unexpectedly, the demand
for the product exceeds
what was forecasted. This
causes the inventory to
decrease (decumulate)

faster than planned./tc
fcØh vçR;kf'kr :i ls c<+ tkrh
gS] rks mRikn dh ekax iwokZuqeku ls
vf/d gks tkrh gSA blls bUosaVªh
fu;ksftr dh rqyuk esa rsth ls de
(?kVrh) gks tkrh gSA

42. (a) The Emergency Provisions
in the Indian Constitution
are outlined in Articles 352
to 360 under Part XVIII.
National emergency (Article
352), state emergency
(President's Rule, Article
356), financial emergency
(Article 360), and related
provisions like the
suspension of fundamental
rights during emergencies

(Article 359)./Hkkjrh; lafo/ku
esa vkikrdkyhu çko/kuksa dks Hkkx
XVIII ds rgr vuqPNsn 352 ls
360 esa js•kafdr fd;k x;k gSA jk"Vªh;
vkikrdky (vuqPNsn 352)] jkT;
vkikrdky (jk"Vªifr 'kklu] vuqPNsn
356)] foÙkh; vkikrdky (vuqPNsn
360)] vkSj vkikrdky ds nkSjku
ekSfyd vf/dkjksa ds fuyacu tSls
lacaf/r çko/ku (vuqPNsn 359)A

43. (a) Washing soda, also known
as sodium carbonate
decahydrate, has the
chemical formula
Na

2
CO

3
.10H

2
O. It is

commonly used in laundry
and cleaning due to its
ability to soften water and

remove stains./okWf'kax lksMk]
ftls lksfM;e dkckZsusV MsdkgkbMªsV
ds :i esa Hkh tkuk tkrk gS] dk
jklk;fud lw=k Na

2
CO

3
.10H

2
O.

gSA ikuh dks uje djus vkSj nkx
gVkus dh {kerk ds dkj.k bldk
mi;ksx vkerkSj ij diM+s /ksus vkSj
liQkbZ esa fd;k tkrk gSA

44. (d) Subhash Chandra Bose
resigned as the President of
the Indian National
Congress in 1939 due to
ideological differences with
Mahatma Gandhi and
other leaders, particularly
over the approach to
achieving independence./

egkRek xka/h vkSj vU; usrkvksa ds
lkFk oSpkfjd erHksnksa ds dkj.k] fo'ks"k
:i ls Lora=krk çkfIr ds n`f"Vdks.k
ij] lqHkk"k paæ cksl us 1939 esa
Hkkjrh; jk"Vªh; dkaxzsl ds vè;{k in
ls bLrhiQk ns fn;k FkkA

45. (a) India’s first Butterfly Park
was set up in 2006 at
Bannerghatta National
Park, located near
Bengaluru to promote
conservation and
awareness of butterflies,
featuring a butterfly
conservatory, museum,
and garden to attract

various species./Hkkjr dk
igyk frryh ikdZ 2006 esa caxykSj
ds ikl fLFkr cUusj?kêðk jk"Vªh; m|ku
esa LFkkfir fd;k x;k Fkk] ftldk
mís'; frrfy;ks a ds laj{k.k vkSj
tkx:drk dks c<+kok nsuk gS] ftlesa
fofHkUu çtkfr;ksa dks vkdf"kZr djus
ds fy, ,d frryh laj{k.k x`g]
laxzgky; vkSj m|ku 'kkfey gSaA

46. (a) The Sagarmatha Sambaad
is a biennial global dialogue
forum initiated by the
Government of Nepal,
named after Sagarmatha
(Mount Everest), focusing
on climate change,
mountain ecosystems, and
sustainable development./

lkxjekFkk laokn usiky ljdkj }kjk
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'kq: fd;k x;k ,d f}okf"kZd oSf'od
laokn eap gS] ftldk uke lkxjekFkk
(ekmaV ,ojsLV) ds uke ij j•k x;k
gS] tks tyok;q ifjorZu] ioZrh;
ikfjfLFkfrdh ra=k vkSj lrr fodkl
ij dsafær gSA

47. (d) Prime Minister Narendra
Modi inaugurated India’s
first 9,000 HP electric
locomotive engine
manufacturing plant in
Dahod, Gujarat, on May

26, 2025./ç/ku ea=kh ujsaæ eksnh
us 26 ebZ] 2025 dks xqtjkr ds nkgksn
esa Hkkjr ds igys 9]000 ,pih
bysfDVªd yksdkseksfVo batu fofuekZ.k
la;a=k dk mn~?kkVu fd;kA

48. (b) India suspended the Indus
Water Treaty (IWT) with
Pakistan, citing national
security concerns and
alleging Pakistan's support
for cross-border terrorism.
The suspension was part of
a series of measures,
including border closures
and diplomatic downgrades.

/Hkkjr us jk"Vªh; lqj{kk fparkvksa dk
gokyk nsrs gq, vkSj lhek ikj vkradokn
ds fy, ikfdLrku ds leFkZu dk vkjksi
yxkrs gq, ikfdLrku ds lkFk fla/q
ty laf/ (IWT) dks fuyafcr dj
fn;kA fuyacu lhek can djus vkSj
jktuf;d MkmuxzsM lfgr dbZ mik;ksa
dk fgLlk FkkA

49. (a) On May 24, 2025, Kush
Maini made history by
winning the Formula 2
Sprint Race at the Monaco
Grand Prix, marking him
as the first Indian to

achieve this feat./24 ebZ]
2025 dks] dq'k eSuh us eksukdks xzSaM
fçDl esa iQkWeZwyk 2 fLçaV jsl thrdj
bfrgkl jp fn;k] ftlls og ;g
miyfC/ gkfly djus okys igys
Hkkjrh; cu x,A

50. (d) India won the 2025 SAFF
U-19 Championship by
defeating Bangladesh 4-3
in a penalty shootout after
a 1-1 draw in the final on
May 18, 2025, at the
Golden Jubilee Stadium in
Yupia, Arunachal

Pradesh./Hkkjr us 18 ebZ] 2025
dks v#.kkpy çns'k ds ;qfi;k esa

xksYMu tqcyh LVsfM;e esa iQkbuy esa
1&1 ls MªkW ds ckn isuYVh 'kwVvkmV
esa ckaXykns'k dks 4&3 ls gjkdj 2025

SAFF U-19 pkSafi;uf'ki thrkA

gSAgS C - QUANTITATIVE APTITUDE
51. (d)Let x be the number of men

be discharge
M

1
 =  120,    M

2
= 120 – x

D
1
 = 64  D

2 
= (124 –  60)

= 60 days

W
1
 = 

2

3
,W

2
 = 

1

3

1 1

1

M D

W = 
1 2

2

M D

W

  
120 64

2

3


= 

 120 – 60

1

3

x 

  
120 64

2 60




= (120 – x)

  (120 – x) = 64

  x = 120 – 64

  x = 56

52.(a) A B
6 hours 8 hours

4 units/
hrs.

3 units/
hrs

Let volume = 24 units
In first 2

hours, volume filled = (4+3)
×2
= 14 units
Reamining units to be filled
by B = (24 –14) = 10 units

 Required time = 
10

3
 = 

1
3

3
hours

53.(b) I. 625 + 4 1296 + 1024
= 25 + 9 + 32 = 63
= 63 > 90 [Incorrect]

II. 3 729 + 4 256

= 3 27 + 416
 = 3 + 2 = 5 [Correct]

54. (d)Let x – 2, x, x + 2 be there
conscutive odd numbers.

 Average of these odd
numbers = x
Largest number = x + 2

ATQ,

x = 
1

3
(x +2) + 52

3x  = x + 2 + 52 × 3

2x  = 52 × 3 + 2
x  = 26 ×3 +1
x = 78 + 1 = 79

 Smallest number = x – 2 =
79 – 2 = 77

55. (b)Let Cost Price 1l of milk be

` x
 S.P. of 1l  of milk = x ×20% =

` 1.2x

Now,  As in ` 1.2x, the quantity
of milk sold = 1l

 In ` x, quantity of milk sold

= 
1

1.2x
×x  =

5

6
ATQ,

C.P. of milk = S.P. of mixture

 quantity of milk, in mixture

=
5

6
l

 Required percentage = 
5

6
 ×

100 = 
250

3
%

56. (b)Let elder daughter gets = ` x
 Younger daughter gets =

(35L – x)
ATQ,

P
1
 + 

1 1 1P T R

100
= P

2
 +

2 2 2P T R

100

x + 
5 10

2

x  
 = (35L – x) +

 35 12.5 10

100

L x  

x + 
2

x
= (35L –x) + 

125

100
(35L)

– 
125

100

x

x + 
2

x
+ x +

125

100

x
 = 35L

+
125

100
(35L)

100 50 100 125

100

x x x x  
=

35L×
9

4

x = 35L ×
9

4
×

100

375
= 21 lakhs



5SSC CGL 2025 | SET - 20KD PUBLICATION Contact us:- 9555108888, 9555208888

57.(c) Let the cost price of the

article be ` x
and the selling price of the

article be = ` 96
ATQ,

96x

x


×100 = 

1

4
x

 400x – 96 × 400 = x2

 x2 – 400x + 38400 = 0
 x2 – 160x – 240x + 38400 =

0

 x(x –160) – 240 (x –160) = 0
 (x –160) (x –240) = 0

x = ` 160  or ` 240
 Cost price of the article is

either ` 160 or ` 240

58.(a) S.I. = ` 2000

C.I. = ` 2400


100

PNR
= 2000


P × 2× R

100
= 2000

PR = 1,00,000

 P 1
100

n
R 

  
 

– P = 2400

 P 

2

1
100

R 
  
 

– P = 2400

 P +
2

10000

PR
+

2

100

PR
– P = 2400


1,00,000

10000

R
+

 2 1,00,000

100
=

2400

 10R = 400

 R = 40%
59.(c) Let C.P. of 8 quintal Rice =

` x

 C.P. of 1 quintal Rice = `
8

x

 S.P. of 3kg without profit/

loss = `
3

8

x

 S.P. of 3 kg rice at 10% profit
=

3

8

x
+

3

8

x
×

1

10
=

33

80

x

 S.P. of 2 kg rice at 5% loss

= 
2

8

x
–

2

8

x
 ×

5

100
=

19

80

x

 Total S.P. =

3

8

x
+

33

80

x
+

19

80

x
= 

82

80

x

 Profit = 
S.P. – C.P.

C.P.
×100

= 

82
–

80

x
x

x
×100 = 2.5%

60. (a) U= Speed = 
1 2

1 2

2U × U

U – U  =

2 3 2

3 2

 



= 12km/hr

Distance = Ut
1
 

1

U
1

U

 
  
 

= 12×
40

60
 

12
1

3

 
  
 

= 40 km

61.(c) Average speed = 
80

8

km

hr
= 10

km/hr
Applying alligation

8 km/hr 16km/hr

6Time 2 

10km/hr

:

 Required distance = 8 × 6 =
48km

62.(c) Let C.P. =

` 100   & M.P.  = ` x

 S.P. = ` 100 + ` 100×
20

100
=

= ` 120
ATQ,

x ×
 100 10

100


= 120

   x ×
90

100
= 120

x = 
120 100

90


=

1200

9
=

` 133.3

 Required % = 
133.3 -100

100

 
  
 

 ×

100  = 33.3%

63.(c)

50km

C

E

S S

74km

D

S
S

24km
3
4

S

3
4

B

Time taken during BC

=
24

3

4

km

S km

hr

=
24

3

4
s

Time taken during DE =
24

S

ATQ,

24 24

3

4

S
S

 
 
  
  
 

=
35 – 25

60


4

3

1

S
–

1

S
= 

10

60 24


4

3S
–

3

3S
= 

10

60 24


1

3S
=

10

60 24

 S = 
60 ×24

10 3
= 48km/hr

64. (b)x = 3 + 2 2

 x = 1+2 + 2× 2

 x = (1)2 +( 2 )2 + 2 × 1× 2

 x =  
2

1 2

 x = 1 2


1

x
= 

 
1

1 2


1

x
=

 
   

1 – 2

1 2 1 – 2 


1

x
=

1 2

–1



x –
1

x
= 1 2 – 2 1

=1+ 2 – 2 +1 = 2
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65. (a) A : B A : B
Investment 5  : 8 5 : 4
Time (months) 8 4

          Profit ratio = (5×8 + 5 ×4) :
(8×8+ 4×4)
= 5 ×12 : 80
= 15 : 20 = 3 : 4

ATQ,

A's share = 3 units = ` 4500

   1 units = ` 1500

 B's share = 4 units = ` 6000
66. (b)Let present age be  x2 + 1

Age, Last year was = x2

Age, Next year will be = x2 + 2
ATQ,

x2 + 2 = y3

  At  x = 5, y = 3 satisfies

equation
 Present age = x2+ 1 = (5)2 + 1

= 26years
Next perfect cube age (3+1)2

= 64 year
 x = 64 – 26 = 38

 Sum of digit = 3+ 8 = 11

67. (c) x3 + 
3

x
= 4(a3 +  b3)...........(i)

3x + 3

1

x
= 4(a3 –  b3).....(ii)

Adding (i) & (ii)

3x + 3

1

x
+ 3x + 3

1

x
= 4(a3+b3)

+ 4 (a3–b3)

 x3 + 3

1

x
+3 

1
x

x

 
  
 

= 8a3



3
1

x
x

 
  
 

 =(2a)3

 x +
1

x
= 2a.........(iii)

subtracting (i) & (ii)

x3 + 
3

x
– 3x – 3

1

x
=4(a3+b3)–

4(a3 – b3)

 x3 – 3

1

x
–3

1
–x

x

 
  
 

= 8b3



3
1

x
x

 
  
 

=(2b)3

 x –
1

x
= 2b........(iv)

Adding (iii) & (iv)

2a + 2b = 2x

 a + b = x .............(v)
Subtracting (iii) & (iv)

 2a – 2b = 
2

x

 a – b = 
1

x
............(vi)

Multiplying (v) & (vi)

(a +b) (a – b) = (x.)×
1

x

 
  
 

 a2 – b2 = 1

68. (d) Interest after 1 year =  ` 22,

800 ×
12.5

100

= 22800 ×
1

8
= ` 2, 850

Amount to be paid at the end
of 1st year

= ` 22, 800 + ` 2800 =

` 25650
Amount after first
installment

= ` 2560 – ` 8650

= ` 17000
Inerest for 2nd year = 17000

×
12.5

100

 = 17000 ×
1

8
= ` 2125

Amount to be paid at the end

of 2 years = ` 17000 +

` 2125 = ` 19125
Amount  after 2nd
installment

= ` 19125 – ` 9125

= ` 10,000
 Amount due at end of third

year

= ` 10,000 + 10,000 ×
12.5

100
=

` 11250

69.(c) Pipe I Pipe II Pipe III

36 min. 60min

5 units/
min.

3 units/
hrs x units

hrs

Let volume = 180 units
ATQ,

(5 + 3 –x) ×45 = 180

 x = 4 unit/min
4 unit/min = 20 gallan/
min.

 1 unit = 5 gallan

 Capacity of tank = 180 units
 = 180×5 gallan
 = 900 gallons

70.(c)   

34

2 1 6 3

x x

x x



 

= 
 2

2

4

12 – 6 6 3

x x x

x x x



 

=
 2

2

4 1

12 – 3

x x

x



= 
 
 

2

2

4 1

3 4 1

x x

x



 =
3

x


99

3
=33

71. (d)Let a= 1, b = 0

3 a + 3 b = 3 c

  3 1+ 3 0 = 3 c

  1 = 3 c

 c =1

 (a + b– c)3 + 27abc = (1+0 –
1)3 + 27 ×1×0×1 = 0

72. (c) From 700 to 800

710 720, 721, 730 731, 732............

1 2

3

Total such numbers =
1+2+3+4+5+6

  =
7 6

2


= 21

From 800 to 900

810, 820, 821, 830, 831, 832,.....

Total such numbers = 1 + 2
+ 3+ ...........+7

= 
8 7

2


= 28

From 900 to 1000
Total such numbers = 1 +
2+3+.............+8

  =
9 8

2


= 36

 Required number of such
numbers
= 21+ 28 + 36 = 85
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73.(d) x2 –y2,  will be maximum

when x 's magnitude is

greatest and y's magnitude

is zero.

(x2 – y2)
max

 = (–3)2 – (0)2 = 9 –

0 = 9

x2 –y2, will be minimum,

when x's magnitude and y's

magnitude is same.

(x2 –y2)
min

 = zero

x2 –y2 = (x+y) (x – y) cannot

be negative as x >  y 

 0 < x2 – y2 < 9

74.(a) A

4hrs

B

6hrs

C
2hrs

3 units/
hrs

3 units/
hrs 6 units/

hrs

Let volume = 12 units

At = 7pm

A has filled – 6 units

B has filled – 2 units

 Volume filled = 6+2 = 8 units

 Volume to be emptied = 8

units

Combined effiencey after

7pm

 = 3 + 2 – 6 = –1

 Required time = 
8

1
= 8hr

 At 3am tank will be empty.

75. (b)Let the income of x,y be 4,

3  respectivly, and

expenses of  x,y be 3 , 2

respectively.

 Saving of A = 4 – 3

 Saving of B = 3 – 2

ATQ,

 4 – 3  = 3 – 2

 =

Now,

4 – 3= 4 – 3 = =

` 6000

 Total income = 7 = ` 42000

D-ENGLISH COMPREHENSION

76. (d) Rudimentary (cqfu;knh)
means basic or
undeveloped, similar to

Elementary ('k q#vkrh),
which refers to something
fundamental.

Intricate (cg qr tfVy)
means highly detailed or
complex.

Complex (tfVy) refers to
something with multiple
components.

Advanced (cgqr vkxs c<+k
g qvk)  means highly
developed or progressive.

77. (d) Keen (mRlqd) means having
a strong interest or
eagerness, while

Indifferent (mnklhu) means
lacking interest or concern.

Tolerant (lfg".kq)  means
being accepting of
differences.

Understanding (le>nkj)
refers to being empathetic
or aware.

Acceptable (Lohdk; Z)
means something that is
satisfactory or agreeable.

78. (d) Active Voice Structure:
Watching my daughter
dance (Subject) + reminds
(Verb) + me (Object) + of
my dancing days
(Additional Information)
Passive Voice Structure:
I (Object) + am (be verb) +
reminded (past participle
of remind) + by watching
my daughter dance (by +
Subject + Additional Info)

79. (d) shall” is followed by the
base form of the verb.
The correct phrase should
be “shall be holding” to
indicate a future action.

80. (d) The correct spelling is

Sergeant (flikgh @ vf/dkjh)
81. (d) Engrossing (fnypLi)

means something so
interesting that it fully
captures attention, similar

to Involving (è;ku •hapus
o kyk) , which refers to

something that deeply
engages a person’s focus.

Malodorous (cnc wn kj)
means having a bad smell.

Rancid (lM+k gqvk) refers to
something stale or
unpleasant in odor,
typically food.

Musty (cklk)  means
smelling stale, damp, or
moldy.

82. (d) “Pay over the odds” refers
to paying more money for
something than it is
actually worth or than the

usual price. (fdlh pht ds fy,
t:jr ls t~;knk iSls nsuk)

83. (a) during; Among
“during” is used for time
periods (like during the
class, during lunch, during
the science period). It tells
when something
happened.
“among” is used when
talking about a group of
people or things. Since we
are talking about four
children, we use among
them.

84. (a) Epistemology – The
discipline that studies the
nature, origin, and scope
of knowledge.
Eschatology – The study of
death, judgment, and the
final destiny of the soul
and humankind.
Ontology – The
philosophical study of
being, existence, and
reality.
Axiology – The branch of
philosophy that deals with
values, such as ethics and
aesthetics.

85. (d) Accommodating

Patient (/S;Zoku) – One who
stays calm and tolerant
during delays, l ike
A c c o m m o d a t i n g

(le>nkj@yphyk) – willing to
adjust or cooperate.

86. (d) Correct order is CADB.
• C introduces the main idea:

the Indian Premier League
(IPL) was founded.
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• A provides additional
information about who
founded it and when (BCCI
in 2008).

• D adds that Lalit Modi was
the former commissioner of
the league.

• B concludes by stating that
Lalit Modi is regarded as
the brainchild and founder
of the IPL.

87. (c) All that glitters is not gold

(tks pedrk gS oks lksuk ugha gksrk)
means that not everything
that looks attractive or
valuable is truly of high
quality or worth, which fits
John’s situation with the
expensive but faulty watch.

88. (a) editing and publishing
the posthumous works of
PB Shelley goes to.

• It starts with the action
editing and publishing.

• Then specifies the
posthumous works of PB
Shelley as the object.

• Ends with goes to,
indicating credit is being
given.

89. (c) “busy as a bee” means
very busy and hardworking

90. (c) Resilience (yphykiu) – The
ability to recover quickly
from difficulties, showing
strength and courage.

Cowardice (dk;jrk) – Lack
of courage or bravery in
facing danger or difficulty.

Negligence (mi s { k k)  –
Failure to take proper care
or attention.

Indifference (mnklhurk) –
Lack of interest, concern,
or sympathy.

91. (c) “unwilling” is an adjective,
and adjectives need a
linking verb like “is” or
“was” to connect them to
the subject.

92. (d) “Thinking outside the box”
means thinking creatively
and unconventionally,
which fits perfectly with the
idea of creating unique
dishes.

93. (d) The correct spelling is
“diligent (esgurh) ”, which
means showing careful and
persistent effort in work or
study.

94. (a) Farce (etkd ;k gkL; ukVd)
refers to an absurd or
comical situation, often
lacking seriousness, while
Tragedy (=kklnh) refers to a
serious and sorrowful
event.

Charity (nku) refers to
giving help or aid.
Chaos (vjktdrk) means
complete disorder or
confusion.

Mockery (etkd mM+kuk)
refers to ridicule or making
fun of something.

95. (c) Active Voice Structure:
You (Subject) + would
suggest (Modal + Base
Verb) + what kind of
change (Object)
Passive Voice Structure:
What kind of change
(Object) + would be
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